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plan := [[0, 5],[3, 81, [1/2, 5/2], [6/10, -4/5]]
1 5] [3 4]
[0,5],(3.8], |7-3]: |5 - F

. espace := [[1l, 2, -2}, [1, 1, 11, [0, 3, -41]
Il 2, -2). (1,1, 11. [0, 3. —4]]

[matrix(plan{il) $ i = 1..4];
[norm(matrix(plan[i]),2) $ i = 1..4]
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[matrix(espace[i]) $ i = 1..3];
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[norm(matrix(espace[i]),2) $ 1 = 1..3]
1 1 0
2 1 3
-2 1 -4

9) [3.4/3,5] & Vad ‘/ﬂf]” )\ AZ”! %ch/@’f/é

vecS := matrix([-1/sqrt(5), 6/sqrt(45)1):
vecT := matrix([2/3, -1/3, 2/-31);
norm{vecS, 2j;

norm{vecS, 2};
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“vecA := matrix([3,41); !
67 vecB := matrix([12,-5]1);
_vecC := matrix([-6,0])
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0
norm{vecA, 2)+norm{vecB, 2)+norm(vecC, 2)
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" 134 #1064 #/cH
norm(vech+vecBt+vecC,2)
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norm(-2*vech,2)+2*norm(vech,2)

" )23+ 2430

norm(vecA,2)*vecC
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6%7 vecD := matrix([8, k-1]):

expand(norm(vecD, 2)72)
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solve(k"2-2%k+65=100,k)
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veclU := matrix([2, 31); >
~vecV := matrix([-2, 4])
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3
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4
~expand(norm(vecU + m * vecV, 2)72)

=} -,
solve(l6*m + 20*m”"2+13 = 82, m)
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ptC := matrix([2,6,-9])
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8. m+8-m+20-m-m+ 13

norm(ptB-ptA, 2)+norm(ptC-ptB, 2)+norm(ptA-ptC, 2)
V182 +16
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29.49073756
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Exercice 11

‘vecW := matrix([m, -2]);
= matrix([3, 5])

" linalg::scalarProduct(vecW, vecZ)
3-m—10

solve(3*m - 10 = 0, m)
10
3

:= matrix([1l, 2, -31);
vecB := matrix([2,1,4]);
C := matrix([6, -5, 0])

"solve(linalg::scalarProduct(vecA+k*vecB, vecC) = 0, k);
"linalg::scalarProduct(vecA+k*vecB, vecC)

“vecU := matrix([1l, 31);

vecV := matrix([-3, 111);
solve(linalg::scalarProduct(vecV-k*vecU, vecU) = 0, k);
linalg: :scalarProduct (vecV-k*vecU, vecU);

vecV-3*vecU

()



{3}
30-10-%
-6
2
(d)
vecE := matrix([7,a,bl);
vecF := matrix([4,3,8]);
vecG := matrix([-5,20,91);
Eq 1 := linalg::scalarProduct(vecE, vecF);
Eg 2 := linalg::scalarProduct(vecE, vecG);
~solve([Eq_ 1 =0, Eq 2 =0], [a,bl);
7
a
b
4
3
8
-5
20
9
3-a+8-b+28

20-a+9-b-35

{la=4.b=-5]}




Exercice 12
Série 4

(4.74, 8.78)

B=(8,7)

C=1(12,5)

Ajre DABC = 12.5

D =(13, 2)



Exercice 14

vecA := matrix{([3,41);

vecB := matrix([5,-11);

vecC := matrix{({7,11);
. vecD := matrix([0,3]);

- linalg::scalarProduct(vech, 7*vecB + vecC)

102

(b)

linalg::scalarProduct(vecA, vecB) * vecB

(%)

()

“linalg::scalarProduct(vechA, vecC) + linalg:

28

(d)

linalg::scalarProduct(vecA+vecB, vecC-vecD)

50

(e)

‘norm(vecD, 2) * linalg::scalarProduct(vech,

36

(f)

vecA + linalg::scalarProduct(vecB, vecC)

(%)

:scalarProduct{vecC,

vecD)

vechD)



Exercice 16

pointA := matrix([-2,4]);
pointB := matrix([1l, -21);
 pointC := matrix([x,x]);

‘vecAB := pointB - pointA;
vecBC := pointC - pointB;
~vecCA := pointA -pointC;

(%)

(a)

solve(linalg::scalarProduct(vecAB, vecCA)

{10}

(b)

"solve(linalg::scalarProduct(vecAB, vecBC)

{-s}

()

“solve(linalg::scalarProduct(vecBC, vecCA)
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